D A'R'IEN G

4 (_ =L il INSTALl..A.TiON

= . '.\_

PRODUCTS

| SERPENT SHIFT LINKAGE 1079 |

PARTS INCLUDED

CUSTOMER SERVICE
877.370.3604 (toll free)

1 Serpent Shift Linkage INSTALLAThION QUKESTKIONS
techsupport@kuryakyn.com
1 Skull Emblem or call 715.247.2983
1 5/16"-24 Chrome Nylock Nut
2 5/16" Flat Washers . LIMITED WARRANTY
Uryakyn warrants that any Kuryakyn products
1 Alcohol I_Dad . sold hereunder, shall be free of defects in
1 Installation Instructions materials and workmanship for a period of one
Please read and understand entire instructions before starting installation. (1) year from the date of purchase by the

consumer excepting the following provisions:

THANK YOU FOR CHOOSING KURYAKYN!

e Kiryakyn shall have no obligation in the event
the customer is unable to provide a receipt

IN ORDER TO PROTECT YOU AND OTHERS FROM POSSIBLE INJURY AND/OR Showing the dete the custemer purchesed (1
PROPERTY DAMAGE OR LOSS, PLEASE PAY CLOSE ATTENTION TO ALL +The product must be properly installed
INSTRUCTIONS, WARNINGS, CAUTIONS AND ATTENTION NOTES REGARDING maintained and operated under
THE USE AND CARE OF THIS PRODUCT. normal conditions.

eKiryakyn makes no warranty, expressed or
implied, with respect to any gold plated

WARNING! THIS INDICATION ALERTS YOU TO THE FACT THAT IGNORING products.
THE CONTENTS DESCRIBED HEREIN CAN RESULT IN eKiiryakyn shall not be liable for any
POTENTIAL DEATH OR SERIOUS INJURY consequential and incidental damages, including

labor and paint, resulting from failure of a
Kiryakyn product, failure to deliver, delay in
delivery, delivery in nonconforming condition, or

ATTENTIONI! This indication alerts you to the fact that ignoring the contents for any breech of contract or duty between
described herein may negatively affect product performance and Kiiryakyn and a customer.
funCtiona"ty' eKiryakyn products are often intended for use in

specific applications. Kiryakyn makes no

CAUTION! This indication alerts you to the fact that ignoring the contents B e S
described herein can result in potential injury or material eKiiryakyn electrical products are warranted for

damage. one (1) year from the date of purchase by the
consumer. L.E.D.’S contained in components of
Kiryakyn products will be warranted for defects

TOOLS SUGGESTED in materials and workmanship for 3 years from

. . the date of purchase where as all other
Set of Hex Wrenches, Set of Combination Wrenches components shall be warranted for one(1) year.

This includes, but is not limited to; control

STRICTLY OBSERVE THE FOLLOWING GUIDELINES IN ORDER TO USE THE modules, wiring, chrome & other components.
PRODUCT PROPERLY AND AVOID POTENTIALLY DANGEROUS ACCIDENTS. eKiiryakyn makes no warranty of any kind in

regard to other manufacturerts products
distributed by Kiryakyn. Kiryakyn will pass on

STEP 1 Read and understand all steps in the instructions before starting the Wh:r“ewaozgg‘tfswmagf Zéégih”;acf“au‘f:fgunri;agﬁ
installation. Park the motorcycle on a hard, level surface and turn off the of the customer, but ultimately. responsibility for
ignition. Let cool. disposition of the warranty claim lies

with the manufacturer.

NOTE: This Shift Linkage is not compatible with Kuryakyn ABOUT OUR CATALOG
H For purchasing Kiryakyn® products, you

Flamed Shlft Arm Cover’ P/N 1059' can receive a complete catalog free of charge.

Send the Proof-of-Purchase below with
your address to: Kiryakyn, P.O. Box 339,

WARNING! YOU WILL BE WORKING AROUND THE ENGINE AND EXHAUST Somerset, WI 54025.
SYSTEM DURING INSTALLATION. ENSURE THAT THE ENGINE el e
AND EXHAUST SYSTEM HAVE FULLY COOLED TO PREVENT e e o sk o el demer sbout oter
INJURY Kiryakyn® products, the motorcycle parts and
accessories designed for riders by riders.
CAUTION! Ensure that the installation of this product does not interfere ©2005 Karyakyn USA® All Rights reserved.

with the proper operation of the motorcycle before riding.

1079-21HD-0511 -cont.-




Kiryakyn
ATTENTIONI! A factory service manual may be helpful in performing this installation. Do not attempt
to perform this installation if you are not confident in your ability
to complete all steps in the procedure; consult a trained gy |

STEP 2 Remove the stock shift linkage. PIC 1

STEP 3 Compare the length of the new shift linkage with the stock shift linkage;
adjust the new linkage to the correct length then finger tighten the jam
nuts. PIC 2

STEP 4 Thread the short stud of the shift linkage into the shift arm on the

transmission. Tighten securely. PIC 2

STEP 5 Place one of the included 5/16” Flat Washers over the longer stud on the
shift linkage and install it through the hole shift arm that is connected to
the shift lever. Place the other included 5/16” Flat Washer over the end of
the stud and secure to the shift lever with the provided Nylock Nut. PIC 2

STEP 6 Position the emblem holder in the desired location and tighten the jam |PIC 2
nuts against the ball joints. PIC 2

STEP 7 Check the shifter for proper operation before riding.

WARNING! FAILURE TO ADJUST THE SHIFT LINKAGE ASSEMBLY
PROPERLY MAY CAUSE DAMAGE TO THE MOTORCYCLE,
WHICH COULD RESULT IN MACHINE MALFUNCTION OR
PERSONAL INJURY.

| SHORT STUD TO TRANSMISSION

1

ATTENTION! Ensure the area of installation is free of grease, oil, dirt or other |LONG STUD TO FOOT SHIFT LEVER |
debris to ensure proper adhesion. Kiiryakyn WILL NOT issue a

warranty on any parts lost due to improper installation. PIC 3 |

| CLEAN THIS AREA WITH ALCOHOL PAD |

ATTENTION! The adhesive will not bond correctly if applied at temperatures
less than 50°F. Do not attempt this installation in temperatures
less than 50°F.

STEP 8 Using the supplied alcohol pad, thoroughly clean the emblem area on
the linkage. Rub the backing on the adhesive pad on the emblem to
activate the adhesive. Remove the backing and attach the emblem to
the linkage. Hold in place for one minute, full bonding will take 24 hrs.

CAUTION! Ensure that the installation of this product does not
interfere with the proper operation of the motorcycle
before riding.

CAUTION! It is the installer’s responsibility to ensure that there is adequate clearance
between the shift linkage and any painted or powder coated surfaces.
Klryakyn is not responsible for any damage due to inadequate clearance.

ATTENTION! 1t is the installer’s responsibility to ensure all fasteners (including pre-assembled)
are tightened before operation of the motorcycle. Kuryakyn will not warranty
components lost due to improper installation. Periodic maintenance may be
required.

PAGE

Ride On?/ 2
[SERPENT SHIFT LINKAGE INSTALLATION ]




